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391812586364252852645149473272359

How many 2’s is there in the above arrangement, each of
which is immediately preceded by a digit which has a
numerical value of more than 5?

IURIh STIEAT H U foha 2 8, "W O Icdsh o ik Ugel
Ueh 3ih B RrorenT Titsamenss 0T 5 O arferes 82

(a) None

(b) One

(¢c) Two

(d) Three

(e) More than three
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Which of the following number is seventh to the left of the
twentieth from the left end of the above arrangement?

freaferiaa T O i O G&aT SUis SIaT & a SR o
e o ST 1% araet 22

(a) 3
(b) 9
(c) 2
(d) 7
O
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391812586364252852645149473272359

If all the even digits are removed from the above
arrangements then, which of the following digit will be
tenth from the right end of the arrangement?

Ife ITRIh saredT & |+t A 3iek get fou =, av
freaforRaa & & &1 |7 sie suaeyT & 10 B8R | 9t 3

(2)9
(b) 5
(c) 1
(d)3
(e) 7



391812586364252852645149473272359

How many such 1’s is there in the above arrangement,
each of which is immediately followed by a perfect square?

SURIh SIFEAT W UH T 1 8, AW & Ueieh o 3tk 918 Teh
qut T 72

(a) None

(b) One

(¢c) Two

(d) Three

(e) More than three
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Eight boxes are placed one above the another. Only two
boxes are placed between box U and T. Only one box is
placed between box T and R. Only two boxes are placed
between box R and V. Box V is placed below box R. Three
boxes are placed between S and Q, both S and Q are
placed above box T. Box W is placed below box V. Not
more than one box is placed between box S and box P.
TS T Ueh oh UYL Ueh W U 2| ATe U AR T o s
ool 21 ST W T §| dferT T 3R R o o<1 Shalel Ueh
STeRT TET AT 81 S1ed R TR V o sl shdlel a1 S T T
F1 I V, Ao R o e [T T g S 3R Q =
ST T T 21 S 3T Q ST hi ST T ok HU [>T 74T 2
SATRT W okl dTeR V ok ==l T&IT T4 31 afe S 3R e P
& ofer Uk & Stferer die & W@t T 2l
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Eight boxes are placed one above the another. Only two
boxes are placed between box U and T. Only one box is
placed between box T and R. Only two boxes are placed
between box R and V. Box V is placed below box R. Three
boxes are placed between S and Q, both S and Q are
placed above box T. Box W is placed below box V. Not
more than one box is placed between box S and box P.
How many boxes are there between box T and box S?
(a) None

(b) One

(¢c) Two

(d) Three

(e) More than three
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Eight boxes are placed one above the another. Only two
boxes are placed between box U and T. Only one box is
placed between box T and R. Only two boxes are placed
between box R and V. Box V is placed below box R. Three
boxes are placed between S and Q, both S and Q are
placed above box T. Box W is placed below box V. Not
more than one box is placed between box S and box P.
Which of the following box is placed immediately above
box Q?

(a) W

(b) U

©R

@dT

(e) None of these
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Eight boxes are placed one above the another. Only two
boxes are placed between box U and T. Only one box is
placed between box T and R. Only two boxes are placed
between box R and V. Box V is placed below box R. Three
boxes are placed between S and Q, both S and Q are
placed above box T. Box W is placed below box V. Not
more than one box is placed between box S and box P.
Which of the following box is placed at the bottommost
position?

(a) W

(b) U

©R

@dT

(e) None of these
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Eight boxes are placed one above the another. Only two
boxes are placed between box U and T. Only one box is
placed between box T and R. Only two boxes are placed
between box R and V. Box V is placed below box R. Three
boxes are placed between S and Q, both S and Q are
placed above box T. Box W is placed below box V. Not
more than one box is placed between box S and box P.
Which of the following box is placed immediately below
box P?

(a) W

(b) U

©R

@dT

(e) None of these
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Eight boxes are placed one above the another. Only two
boxes are placed between box U and T. Only one box is
placed between box T and R. Only two boxes are placed
between box R and V. Box V is placed below box R. Three
boxes are placed between S and Q, both S and Q are
placed above box T. Box W is placed below box V. Not
more than one box is placed between box S and box P.
How many boxes are there between box W and box R?
(a) None

(b) One

(¢c) Two

(d) Three

(e) More than three
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In the word ‘BACKGROUND?’ all consonants are written
as their preceding letter and all vowels are written as their
following letters. Then, how many letters repeated in the
new arrangement?

'BACKGROUND' 9753 H TH ST 377eh Ualad! T oh &
3 forer U § ofiT |eft T 3k IS 378N ¥ w0 § o Tu
F1 7t T, 72 serareer U ferar a1em Srewre Tu?

(a) One

(b) Two

(¢) Four

(d) Three

(e) More than four
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Six persons are arranged according to their weight in descending
order from left to right. E is not the heaviest among all. A is
heavier than F and C. F is heavier than B and D but not heavier
than E. B and C are not the lightest among all. A is not just heavier
than F. E is heavier than C, who is not the 3rd heaviest among all.
Weight of the 2nd lightest person is 17kg. Total weight of B and C
is 44kg. 2nd heaviest person is twice heavy to the one who is 2nd
lightest. C is just lighter than F. Total weight of all the persons are
150kg.
@g—qﬁﬁq‘rﬁm%amé; FATAR IATC | 3T Ted T/ H AT YT
foarT T 21 B vt § & Tad W e 31 A, F iR C AW R F, B
3R D & Y § SRR E & T 8 31 B 3R C aoft e gk A
T A THRTA F & 9 Bl E, C & 9T 8, 7 ot 7 o0 aad T T2t
21 ZoR T 7o ST HT AW 17 R 21 B iR C T HSA I
44 Torer 31 o ward 9 s g T gk st @ AT 9l
C F & oSt goeht 2| Wit safhal &l el et 150 et 1
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Six persons are arranged according to their weight in descending
order from left to right. E is not the heaviest among all. A is
heavier than F and C. F is heavier than B and D but not heavier
than E. B and C are not the lightest among all. A is not just heavier
than F. E is heavier than C, who is not the 3rd heaviest among all.
Weight of the 2nd lightest person is 17kg. Total weight of B and C
is 44kg. 2nd heaviest person is twice heavy to the one who is 2nd
lightest. C is just lighter than F. Total weight of all the persons are
150kg.

What may be the possible weight of F?

(a) 30kg

(b) 38kg

(c) 24kg

(d) 25kg

(e) None of these
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Six persons are arranged according to their weight in descending
order from left to right. E is not the heaviest among all. A is
heavier than F and C. F is heavier than B and D but not heavier
than E. B and C are not the lightest among all. A is not just heavier
than F. E is heavier than C, who is not the 3rd heaviest among all.
Weight of the 2nd lightest person is 17kg. Total weight of B and C
is 44kg. 2nd heaviest person is twice heavy to the one who is 2nd
lightest. C is just lighter than F. Total weight of all the persons are
150kg.

The number of persons is heavier than F is same as the number of
persons lighter than  ?

(a) A

(b) C

(¢c)D

(dB

(e) None of these
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Six persons are arranged according to their weight in descending
order from left to right. E is not the heaviest among all. A is
heavier than F and C. F is heavier than B and D but not heavier
than E. B and C are not the lightest among all. A is not just heavier
than F. E is heavier than C, who is not the 3rd heaviest among all.
Weight of the 2nd lightest person is 17kg. Total weight of B and C
is 44kg. 2nd heaviest person is twice heavy to the one who is 2nd
lightest. C is just lighter than F. Total weight of all the persons are
150kg.

If D is 10kg lighter than B and F is 5kg heavier than C then what is
the weight of A?

(a) 23kg

(b) 43kg

(c) 30kg

(d) 33kg

(e) None of these
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Six persons are arranged according to their weight in descending
order from left to right. E is not the heaviest among all. A is
heavier than F and C. F is heavier than B and D but not heavier
than E. B and C are not the lightest among all. A is not just heavier
than F. E is heavier than C, who is not the 3rd heaviest among all.
Weight of the 2nd lightest person is 17kg. Total weight of B and C
is 44kg. 2nd heaviest person is twice heavy to the one who is 2nd
lightest. C is just lighter than F. Total weight of all the persons are
150kg.

Four of the following five are alike in a certain way and so form a
group. Find the one who does not

belong to that group?

(a) E-C

(b) F-A

(¢) D-C

(d) B-D

(e) F-B
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Six persons are arranged according to their weight in descending
order from left to right. E is not the heaviest among all. A is
heavier than F and C. F is heavier than B and D but not heavier
than E. B and C are not the lightest among all. A is not just heavier
than F. E is heavier than C, who is not the 3rd heaviest among all.
Weight of the 2nd lightest person is 17kg. Total weight of B and C
is 44kg. 2nd heaviest person is twice heavy to the one who is 2nd
lightest. C is just lighter than F. Total weight of all the persons are
150kg.

Which of the following statement is true?

(a) Only one person is lighter to C

(b) D is the lightest among all

(c) A is lighter to D

(d) Weight of A is 50 kg

(e) None is true
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Statements:
F>RZ2T=E>WSQ
Conclusions:

I. E<F

. Q2T

(a) If only conclusion I is true

(b) If only conclusion II is true

(c) If either conclusion I or II is true
(d) If neither conclusion I nor 11 is true
(e) If both conclusions I and II are true
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Statements:
W=GZ2H2T=CSVSB
Conclusions:

I. T<G

II. C=G

(a) If only conclusion I is true

(b) If only conclusion II is true

(c) If either conclusion I or II is true
(d) If neither conclusion I nor 11 is true
(e) If both conclusions I and II are true
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Statements:
K>I2G>FST<R
Conclusions:

I. K>T

II. R>F

(a) If only conclusion I is true

(b) If only conclusion II is true

(c) If either conclusion I or II is true
(d) If neither conclusion I nor 11 is true
(e) If both conclusions I and II are true



4 @Reasoningbybasantsir

Statements:
K<GSD<C>RSY
Conclusions:

I. C>G

II. K<D

(a) If only conclusion I is true

(b) If only conclusion II is true

(c) If either conclusion I or II is true
(d) If neither conclusion I nor 11 is true
(e) If both conclusions I and II are true
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Eight persons A, B, C, D, E, F, G and H were born in the
month of December of 4 different years i.e. 1956, 1957,
1958 and 1959 either on 14th or 23rd but not necessarily in
the same order. E was born in the even numbered year but
not the eldest among all. More than two persons were born
between E and D. H was born just after D. There are as
many persons born before H as same as born after B. G
was born before F and after A and they all were born on
the same date.

A Ah A, B, C, D, E, F, G 31K H T T+ 4 TeTT-3Te1T
T AT 1956, 1957, 1958 3R 1959 & ReesR v A aral
14 97 23 mﬁgan ofT SATehT Sl g1 Toh SHT s | &l
E ST -0 T T&AT Tl 99 | §AT AT SAfeh I TAGH TS
e\ 9Tl E 3R D o sfter &1 & arfires safwhat st w4 g3l H
ST 0 D o 3teh A1 gATI Hﬁqﬁﬁﬁﬁwﬁﬁﬁﬂ'@,
R B am =T gw
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Eight persons A, B, C, D, E, F, G and H were born in the
month of December of 4 different years i.e. 1956, 1957,
1958 and 1959 either on 14th or 23rd but not necessarily in
the same order. E was born in the even numbered year but
not the eldest among all. More than two persons were born
between E and D. H was born just after D. There are as
many persons born before H as same as born after B. G
was born before F and after A and they all were born on
the same date.

How many persons born before C?

(a) One

(b) None

(¢c) Two

(d) More than four

(e) Four
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Eight persons A, B, C, D, E, F, G and H were born in the
month of December of 4 different years i.e. 1956, 1957,
1958 and 1959 either on 14th or 23rd but not necessarily in
the same order. E was born in the even numbered year but
not the eldest among all. More than two persons were born
between E and D. H was born just after D. There are as
many persons born before H as same as born after B. G
was born before F and after A and they all were born on
the same date.

In which of the following year B was born?

(a) 1956

(b) 1959

(¢) Either 1956 or 1959

(d) 1957

(e) 1958
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Eight persons A, B, C, D, E, F, G and H were born in the
month of December of 4 different years i.e. 1956, 1957,
1958 and 1959 either on 14th or 23rd but not necessarily in
the same order. E was born in the even numbered year but
not the eldest among all. More than two persons were born
between E and D. H was born just after D. There are as
many persons born before H as same as born after B. G
was born before F and after A and they all were born on
the same date.

How many persons were born between A and F?

(a) Three

(b) Five

(¢c) Two

(d) One

(e) None of these
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Eight persons A, B, C, D, E, F, G and H were born in the
month of December of 4 different years i.e. 1956, 1957,
1958 and 1959 either on 14th or 23rd but not necessarily in
the same order. E was born in the even numbered year but
not the eldest among all. More than two persons were born
between E and D. H was born just after D. There are as
many persons born before H as same as born after B. G
was born before F and after A and they all were born on
the same date.

Four of the following five are alike in a certain way and so
form a group. Find the one who does not belong to that
group?

(a)D

(b)B

(¢c) E

d) C

(e) H
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Eight persons A, B, C, D, E, F, G and H were born in the
month of December of 4 different years i.e. 1956, 1957,
1958 and 1959 either on 14th or 23rd but not necessarily in
the same order. E was born in the even numbered year but
not the eldest among all. More than two persons were born
between E and D. H was born just after D. There are as
many persons born before H as same as born after B. G
was born before F and after A and they all were born on
the same date.

The number of persons born between G and H is same as
between  and  ?

(@A E,F

(b) B,H

c)C,B

d)D,G

(e) None of these
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Statements:

Only a few Photo are Video.

Only a few Frame are Video.

All Frame are Camera.

Conclusions:

I. All Photo being Frame is a possibility.
II. Some Photo are not Camera.

(a) If both conclusions I and II follow.
(b) If only conclusion II follows.

(¢) If only conclusion I follows.

(d) If neither conclusion I nor II follows.
(e) If either conclusion I or II follows.
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Statements:

Only a few City are Town.
No Town is Village.

All Village are Block
Conclusions:

I. All City can be Village.

II. Some Block are not Town.

(a) If both conclusions I and II follow.
(b) If either conclusion I or II follows.
(¢) If only conclusion I follows.

(d) If neither conclusion I nor II follows.
(e) If only conclusion II follows.
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Statements:

Only Banana is Apple.
Some Banana are Papaya.
Conclusions:

I. Some Apple being Papaya is a possibility.
I1. All Banana can be Apple.

(a) If both conclusions I and II follow.
(b) If only conclusion I follows.

(¢) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If only conclusion II follows.
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Eight persons D, E, F, G, M, O, P and S purchase
some products one after another but not necessarily
in the same order. At most two persons purchase
beftore F. Only one-person purchase between D and
F. P purchase just before S. One-person purchase
between P and D. M purchase just before E. O
purchase before G and after E.

AR AR D, E, F, G, M, O, P 31X S Uk & d1< Ueh
wm@'ﬁaﬁ%ﬁﬁquﬁﬁﬁgﬁmﬁﬁl
HATerRAH I AfH F 8§ T8t @GR hid 21 D SR F &
st Shael Ueh sk TRIGRT &hidT 2l P, S © Sieh Ugel
@'ﬁaﬁrm%l P 3R D % sfter T safes T
AT EI M, E ﬁaﬁmq%ﬁ@ﬁaﬁm%l
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Eight persons D, E, F, G, M, O, P and S purchase
some products one after another but not necessarily
in the same order. At most two persons purchase
before F. Only one-person purchase between D and
F. P purchase just before S. One-person purchase
between P and D. M purchase just before E. O
purchase before G and after E.

How many persons purchase aftter D?

(a) None

(b) Two

(¢c) More than three

(d) One

(e) None of these
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Eight persons D, E, F, G, M, O, P and S purchase
some products one after another but not necessarily
in the same order. At most two persons purchase
beftore F. Only one-person purchase between D and
F. P purchase just before S. One-person purchase
between P and D. M purchase just before E. O
purchase before G and after E.

Who among the following purchase just after G?
(a) E

(b) F

© O

dP

(e) None of these
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Eight persons D, E, F, G, M, O, P and S purchase
some products one after another but not necessarily
in the same order. At most two persons purchase
beftore F. Only one-person purchase between D and
F. P purchase just before S. One-person purchase
between P and D. M purchase just before E. O
purchase before G and after E.

If all the persons are arranged in alphabetical order
from top to bottom starting from D, then find how
many persons remains at the same position
(excluding D)?

(a) One

(b) None

(¢c) Two

(d) Four

(e) More than Four
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Eight persons D, E, F, G, M, O, P and S purchase
some products one after another but not necessarily
in the same order. At most two persons purchase
beftore F. Only one-person purchase between D and
F. P purchase just before S. One-person purchase
between P and D. M purchase just before E. O
purchase before G and after E.

Who among the following purchase exactly between
D and F?

(a) E

(b) O

oM

dS

(e) None of these
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Eight persons D, E, F, G, M, O, P and S purchase
some products one after another but not necessarily
in the same order. At most two persons purchase
beftore F. Only one-person purchase between D and
F. P purchase just before S. One-person purchase
between P and D. M purchase just before E. O
purchase before G and after E.

How many persons purchase between E and P?

(a) Five

(b) Four

(¢) Three

(d) None

(e) Two



How many pairs of letters are there in the word
“CHRISTMAS” which has as many letters between
them as we have in the English alphabetical series
(from both forward and backward direction)?

(a) Three

(b) One

(¢c) Two

(d) None

(e) More than three
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